
EN - Place the legs upside down on a flat surface, insert the frame 
brackets (2) into the legs (1) and fasten them with screws (3)
        The fixing of the legs depends on the size of the top. Mount 
the legs as shown in the illustration.
IT - Posizionare le gambe capovolte su una superficie piana, 
inserire le squadrette (2) nelle gambe (1) e fissarle tramite viti (3)
         Il fissaggio delle gambe dipende dalla grandezza del ripiano. 
Fissare le gambe come mostrato nell’illustrazione.
DE - Legen Sie die Beine umgedreht auf eine ebene Fläche, 
stecken Sie die Halterungen (2) in die Beine (1) und befestigen 
Sie sie mit Schrauben (3). 
        Die Befestigung der Beine hängt von der Größe der Platte ab. 
Montieren Sie die Beine wie in der Abbildung gezeigt.
FR - Placez les pieds à l'envers sur une surface plane, insérez les 
supports (2) dans les pieds (1) et fixez-les avec les vis (3).
         La fixation des pieds dépend de la taille du plateau. Montez 
les pieds comme indiqué sur l'illustration.
ES - Coloque las patas boca abajo en una superficie plana, inserte 
los soportes (2) en las patas (1) y fíjelos con tornillos (3).
        La fijación de las patas depende del tamaño del sobre. Monte 
las patas como se muestra en la ilustración.

IS
TR

_A
RK

I-T
AB

LE
_A

RK
5/

2_
AR

KW
5/

2_
20

24
.0

Arki-table
ARK5/2 - ARKW5/2
DESIGN
Pedrali  R&D

INSTRUCTIONS
Istruzioni - Gebrauchsanweisungen - Instructions - Instrucciones

Pedrali SpA - www.pedrali.it - info@pedrali.it 1/2

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

1

2

3

Ø790 mm 
Ø890 mm 
Ø990 mm 

Ø31.1” 
Ø35”
Ø39” 

790x790 mm 
890x890 mm 
990x990 mm 

31.1”x 31.1”
35”x35“
39”x39”

 TOP - RIPIANI  
TISCHPLATTE - PLATEAU - SOBRE

4 mm - 5/32 in

M6x14 
(x16)

3

EN -  PAY ATTENTION TO THE 
LENGTH OF THE SCREWS.
IT -  PRESTARE ATTENZIONE 
ALLA LUNGHEZZA DELLE VITI.
DE - ACHTEN SIE AUF DIE LÄNGE 
DER SCHRAUBEN.
FR -FAITES ATTENTION À LA 
LONGUEUR DES VIS.
ES - PRESTE ATENCIÓN A LA 
LONGITUD DE LOS TORNILLOS.

14 mm
1.5 in 

EN - IMPORTANT, KEEP FOR FUTURE REFERENCE: READ CAREFULLY
IT - IMPORTANTE, CONSERVARE PER RIFERIMENTO FUTURO: LEGGERE ATTENTAMENTE
DE - WICHTIG, ZUM SPÄTEREN GEBRAUCH AUFBEWAHREN: SORGFÄLTIG LESEN
FR - IMPORTANT, À CONSERVER POUR TOUTE RÉFÉRENCE FUTURE: LISEZ ATTENTIVEMENT
ES - IMPORTANTE, CONSÉRVELO PARA FUTURAS CONSULTAS: LEA ATENTAMENTE

EN -  Intended use: Contract/residential, indoor use.
IT - Destinazione d’uso: Contract/residenziale, uso interno.
DE - Verwendungszweck: Objektbereich/Residenz, Innenbereich.
FR - Utilisation prévue: Contrat/résidentiel, utilisation à l'intérieur.
ES - Uso previsto: Contract/residencial, uso en interior.



Pedrali SpA - www.pedrali.it - info@pedrali.it 2/2

IS
TR

_A
RK

I-T
AB

LE
_A

RK
5/

2_
AR

KW
5/

2_
20

24
.0

EN -         Position the top on a smooth, scratch-resistant 
surface. 
Turn the frame upside down and fasten the legs to the top (4) 
using the screws (5). 
IT -           Posizionare il ripiano su una superficie liscia e 
antigraffio. Fissare le gambe al ripiano (4) mediante le viti (5). 
DE -         Platte auf eine glatte Oberfläche legen. 
Drehen Sie den Rahmen auf den Kopf und befestigen Sie die 
Beine mit den Schrauben (5) an der Oberseite (4).  
FR -         Positionner le plateau sur une surface lisse et 
anti-rayures. Retournez le cadre et fixez les pieds au plateau 
(4) à l'aide des vis (5). 
ES -         Poner el sobre de mesa en una superficie lisa y 
antirayas. Fije las patas al sobre de mesa (4) con los tornillos (5). 

*M6X8
(x8)

5

*M6X16
(x8)

5

*M6x8 (x8)

 Solid laminate top (thickness 10/12 mm - 0.39/0.47 inc)
 Ripiano in stratificato (spessore 10/12 mm - 0.39/0.47 inc)
 Kompaktplatten (dicke 10/12 mm - 0.39/0.47 inc)
 Plateau enstratifié (épaisseur 10/12 mm - 0.39/0.47 inc)
 Sobre de mesa compacto (espesor 10/12 mm - 0.39/0.47 inc)

8 mm
1.5 in 

*M6x16 (x8)

 Laminate top (thickness 20 mm - 0.79 inc)
 Ripiano in laminato (spessore 20 mm - 0.79 inc)
 Laminatplatten (dicke 20 mm - 0.79 inc)
 Plateaux stratifiés (épaisseur 20 mm - 0.79 inc)
 Sobre de mesa laminado (espesor 20 mm - 0.79 inc) 

16 mm
0.6 in 

NO

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

3

Ø1090 mm 
Ø1190 mm 
Ø1290 mm 

Ø43” 
Ø46.8”
Ø50.8” 

1090x1090 mm 
1190x1190 mm 
1290x1290 mm 

43”x 43”
46.8”x 46.8“
50.8”x 50.8”

 TOP - RIPIANI  
TISCHPLATTE - PLATEAU - SOBRE

4

4 mm - 5/32 in

M6x14 
(x16)

3

EN -  PAY ATTENTION TO THE 
LENGTH OF THE SCREWS.
IT -  PRESTARE ATTENZIONE 
ALLA LUNGHEZZA DELLE VITI.
DE - ACHTEN SIE AUF DIE LÄNGE 
DER SCHRAUBEN.
FR -FAITES ATTENTION À LA 
LONGUEUR DES VIS.
ES - PRESTE ATENCIÓN A LA 
LONGITUD DE LOS TORNILLOS.

14 mm
1.5 in 

EN -  PAY ATTENTION TO THE LENGTH OF THE 
SCREWS.
IT -  PRESTARE ATTENZIONE ALLA LUNGHEZZA 
DELLE VITI.
DE - ACHTEN SIE AUF DIE LÄNGE DER SCHRAUBEN.
FR -FAITES ATTENTION À LA LONGUEUR DES VIS.
ES - PRESTE ATENCIÓN A LA LONGITUD DE LOS 
TORNILLOS.


